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QUESTION 1

A vSphere administrator needs to reconfigure the Distributed Power Management (DPM) threshold to be more
aggressive. Where should the administrator edit the settings of DPM in the vSphere Web Client? 

A. DPM plug-in settings 

B. Cluster settings 

C. ESXi host power settings 

D. vCenter Service Status 

Correct Answer: B 

 

QUESTION 2

An administrator is setting up vMotion in a vSphere environment. A migration is run to test the configuration, but fails.
What could the administrator do to resolve the issue? 

A. Ensure the VMkernel port group is configured for Management Traffic. 

B. Enable VMkernel port group for the vSphere cluster. 

C. Ensure the vMotion enabled adaptors configured for the same subnet. 

D. Use a vDS instead of a standard switch. 

Correct Answer: C 

Reference: http://pubs.vmware.com/vsphere-51/index.jsp?topic= %
2Fcom.vmware.vsphere.vcenterhost.doc%2FGUID-3B41119A-1276-404B-8BFB- A32409052449.html 

 

QUESTION 3

A vSphere administrator is attempting to migrate a virtual machine, but the progress bar for the migration remains at
10%. Which issue could be preventing the vMotion migration? 

A. A networking problem between the source and destination hosts exists at the physical layer. 

B. The virtual machine is not on shared storage visible to the source and destination hosts. 

C. The vMotion migration priority for this migration was set to High. 

D. The vMotion network is saturated. 

Correct Answer: A 

 

QUESTION 4
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A customer needs to size a single backup appliance for backing up 3TB of data. There is no requirement for guest level
backups of SQL and Exchange. What is the minimum VMware Data Protection solution and sizing that would fulfill the
stated requirements? 

A. VMware Data Protection Advanced with a 4TB backup appliance 

B. VMware Data Protection with a 4TB backup appliance 

C. VMware Data Protection Advanced with a 3TB backup appliance 

D. VMware Data Protection with a 3TB backup appliance 

Correct Answer: A 

 

QUESTION 5

An administrator needs to create an IP allocation policy for a multi-tiered application running in a vApp. The IP
addresses should be allocated automatically by vCenter Server, but should not be released even if a virtual machine is
powered off. Which IP allocation model should the administrator use for the vApp? 

A. Static - Manual 

B. Transient - IP Pool 

C. DHCP 

D. Static - IP Pool 

Correct Answer: D 
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